EARAROBEEIERT — 2 N— IBISH —F

201851181780 (£) 10EIEH5H

PMC3—11 C3 ¥>%—#% ‘ (XM&] W ‘ (R — | 4 (£) 13000 &
[A&4£] 1 7 :200,000™ ~ 23#%&:60,000H”  33&:30,000H”  437:20,000MH .~ 57&:10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— s s = EAE . a4 _ =
1 9| IFE=—Vr FT4 # 3 | KRS 1.(2_6).0 3-3-4-4 | 40.8 2 | 453 Ejééﬁ( #)
L:24—1)>A—-X B:AALT—FK (-1) $ro—t>
S S BRERE :26. -4-3- . — mILAEE (BH)
olgli1| 7E—~Y KT 43 ;5_0 1(12/62)1 4-4-3-1 | 41.0 1 (5+110) EEEE%E
R:O—XF¥> T80 B:JT1— FH #a
AT o2 | HEER 1:26.6 2-2-2-2 |41.6| — 3 457 | BT (BH)
3 g|¥EXUYF 54.0 21/2) o) |AHER
R:jr—3I)7> BEHCFTT Bliikae]
2, T 4 5 | B)llaEL 1:26.8 6-6-5-5 |41.1| — 4 510 | MAARE) (ZH)
4 Ev779% 56.0 () -2) (@) J PN
Rixiv/xwF BiYLTIAZ—FAY J—H Ty — I
7 B3 | AEHAEER 1:27.0 9-9-9-6 |40.2| — 5 433 | MIIEE (FH)
5 TI=Z 54.0 " o |EEB
LN—E>Tv— BNIINIATHLY KBRS
> == :27. -1-1- A FlllE— (&)
6 g4 =T R 4 = 1(237)6 1-1-1-3 | 42.7 6 (4_639) 2l
R:F4—TTVI>F B:TURTA MEE
s = it 5 | IBHES 1:28.0 8-7-7-7 |41.5| — 9 464 | BREZ (SH)
7 DTNAXYTS g 56.0 @ 45 | (B J PN
R:ihTAZT Bivavtihis thith K
. S OS FEFRIT =] : -10-10- — BlEE= (SH)
8 0l 77>TrEY LR 3 L 1(/72?:) 10-10-10-9 | 40.3 10 g) e
R/ RS vy T B:Tr—FT43TvY 1EBE AT
SN =« BIFFE IR :28. ~5-6~ . — fEE ()
o o | HIHLT A5 o4 Gt 1 (2:3)8 5-5-6-8 | 42.8 7 :1;93; e
R:YIRG1 TS5 B:5FvyT ais =S
4 | BAHK 1:30. N-11-11-11] 41.7 | — 11 4 REA (&)
jolsl 5| n—bsz—2 R Iy &° o e
LY LTAN—b B:oFanyx RiE FE
— e LS BREE—BA : -8-8- — NBEE (&H)
1 vaysaxes i 3 s 173(1):? 7-8-8-10 | 43.5 8 (4_416) nEnE
LTI RIE— B /7717 U— FH F#A
® I —F—@EBIERL
13=7r= 3,8,2,11,9,7,1,4,6,10,5
2= = 3,8,2,11,9,7,4,1,6,10,5
Jol=5r= 3,8,11,2,7,9,4,1,6,10,5
43—F— 11,8,3,2,7,6,4,9,10,1,5
[ N3
BB 2 220H 714K 2-11 110H % E 2-8 160H 3EHE 2-8-11 280M
8 B 2 1004 2-8 280M B & 2-11 140M K31 2-11-8 1,690M
1 100 8-11 2001 | | B & 2-11 480M
8 160/

ABICOVWTRDTEEERROODE. TR LIV,




